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Q.1: Applying Magnetic Forces

A proton is moving in a magnetic field B, which is directed toward the right. If the proton moves in a direction parallel

to the magnetic field, what is the direction of the magnetic force?
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You may use any of the given equations where needed:

Adas sl Agaglatl) il el

PHY.6.1.02.061 o
AVsource R =R, +Ry+ ..

1= X Toward the right. |
' Omand) gl
1 1 1 1
&= R_1+ R_z + R_3 + .. F = quB (sinf) Upward. 2
A
F = ILB (sinf) EMF = BLv (sin@) Downward. 3
Jaudd

No magnetic force genarated to determine its direction 4
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Q.2: electromagnet
Which point indicates the magnetic north pole in the solenoid shown in the figure?
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Q.3: Understanding Magnetism

How could the the magnetic field in the figure be described?
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PHY.6.1.02.065 o
Point away from the wire .|

Alud) e e dady

Point toward the wire 2

Aladd) gad dady

Perpendicular to that wire 3
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Are parallel with the wire. 4
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Q.4: potential difference
What is the potential difference across the battery in the figure below?
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You may use any of the given equations where needed: 0.5 A 22 02
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' R1+ R, + R, T F = quB (sinf)
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Q.5: simple circuits
Which of the following bulbs are connected in series?
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Q.6: electromagnet

How can you increase the strength of the magnetic field in a solenoid?
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Increase the current in the solenoid .1
sl Calall 8 A 5eSI Ll 3ad 30l )
Increase the temperature of solenoid .2
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Increase the space between the loops .3
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Decrease the current in the solenoid .4
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Q.7: Forces on Current-Carrying Wires
What is the direction of the magnetic force on the current-currying wire in the figure?
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upward .1
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downward .2
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Q.8: equivalent current

What is the reading of the ammeter A?
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You may use any of the given equations where needed:

7= AVsource R=R, +R, + ..
R
b 1 _ 1 1 1
— 10.0V @; R R R tR T F = quB (sinf)
F = ILB (sinf)
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0.20A 1
5.00A 2

50.0A 3
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Q.9: equivalent resistance
Two 20 Q) resistors are connected in series across a 125 V generator. What is the equivalent
resistance of the circuit?
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You may use any of the given equations where needed:

I= AVsource R =Ry + Ry + ...
R
L 1 1
== R1+ r it R + . F = quB (sinf)

F = ILB (sinf)

Adai al) Apaglacl) iy yial
PHY.6.2.02.009 o
20Q .1
400 2
0.20A 3
3.00 4



Q.10: magnetic force on a wire

Based on the magnetic force on a current-carrying wire equation. At what angle (0) the force on the
wire is greatest?
F = ILB (sin 6)
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F = ILB (sin 6)
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0=90° .
0=0° 2
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0=30° 4



Q.11: complex circuit

What is the equivalent resistance of all resistors in the following circuit?
Yl dil gl 8)510dl o Dloglaed] guoamd disSall doglacd]l o Lo

Ra
12.0 Q2
60.0V & Ac
= 10.0 O 10.0Q

PHY.6.2.02.009

PHY.6.2.02.010

17.0Q 1

3200 2

1220 3

3500 4
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You may use any of the given equations where needed:

f o Aoures R=Ry+R+ ..
R
1 1 1 1
== R1+ Rz + R + .. F = quB (sin8)

F = ILB (sinf)
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Q.12: magnetic field strength
The strength of a magnetic field (B) is measured in Tesla (T). what does one T equal to?
T aaly L 31SE 13 (T) Dl 52s 53 (B) (SboseSl Jlaall 3 58 (s

X X X X
B=05T
X X X X
wsr v =4.0x10" m/s
X X X X
20 gs2u
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1T =1N/(A-m)

1

1T=1N.(Am) 2

1T=1N/A 3
1T=1N/m 4
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Q.13: Kirchhoff’s Rules
What are the two Kirchhoff's Rules to analyze complex electric circuit?
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Loop and junction rules .1
o gllg Akl Gl
series nd parallel rules 2
S3lsdly gl Guels
attraction and repulsion rules 3
Obadlg LAl Bueld
current and resistance rules 4
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Q.14: circuit

Based on the figure below, which statement is true?
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Q.15: types of circuits

What is the circuit in which there is more than one path for the current?

fanls s (3o ST Ll e 60 A 850 oo 13Lo
ddayi palf dpaddal) cila Al
PHY.6.2.02.010 o
Series circuit .1
PR
Parallel circuit .2
) sill 30
Open circuit .3
da ginall 2l ,eS 5 30l
insulating circuit .4
A ladl Al S 5 y3lal)

Q.16: FORCE ON A CURRENT-CARRYING WIRE IN A MAGNETIC FIELD
Which of the following is a real-life application of a current-carrying wire in a magnetic field?
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Q.17: MAGNETIC FIELD- UNDERSTANDING MAGNETISM
A wire is placed perpendicularly to a (5.0 T) magnetic field, the current through this wire is (20.0 A) and the force on

the wire is (25.0N) . What is the length of the wire?
lo (25.0 N) )lase 395 aule yigig (20.0 A) A5 Ll 3aub &L, (5.0 T) diouds guublise Jlxo 9 Ldges cllw gidg
felludl Jgb g
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You may use any of the given equations where needed:

I = AL;OHT{,‘E R = Rl + R2 + o
R
1 1 1 1
== R_]_+R_2+R_3+m F = quB (sin8)
F = ILB (sinf)
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0.25m |

25.0m 2
4.0m 3
0.4m 4



Q.18: magnetic force on a charge
A 2 x 10° C charge is moving at the speed of 3 x 10’m/s perpendicular to a magnetic field of 0.5 T.
What is the force on the charge?
5i5all 3580 platala 0.5 T 4iad fli enhaline Jlae o (g3 500 olaila m/S3 X 107 4o 2 X 10° C 4l jgS il < jas
el il ola e
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You may use any of the given equations where needed:

;= AVsource R =Ry +Ry+ ..
R
1_ 1 1 1
e Rl+ R2+R3+"' F = quB (sinf)

F = ILB (sinf)
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Q.19: Understanding Magnetism ...
What does the structure in the figure represent?
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A il
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4l
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Q.20: right hand rule
How can you determine the direction of the magnetic field around a current-carrying wire by using the Right-Hand Rule?
Fodadl 2l Bacls plazialy , il Jol> ety byzmall b lisiall Jlzall ol 4155 gebaia 4

et aal) 3ac 13
Right-Hand Rule
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The thumb points in the direction of the conventional current, and the fingers will point in the direction of the magnetic field. .1
bl Jlaall olad) L) Al aslial jadi g Addaay) Ll sladl ) algd) sady

The thumb points in the direction of the magnetic field, and the fingers will point in the direction of the conventional current. .2
AMhay) Ll olad) ) Al alal jadi g pushaliall Jlaal) slal ) alg¥) sady
The thumb points in the opposite direction of the conventional current, and the fingers will point in the direction of the magnetic field. .3
bl Jlaall olad) L) 2l aslial yadii g Adaal) Ll o) (uSay alg)
The index finger points in the direction of the conventional current, and the fingers will point in the direction of the magnetic field. .4
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Q.21: simple circuits

How is all resistors connected in the figure?
FUSL Ologlinll gaer Jrosd o S
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In parallel 1
Sl e
In series .2
Sl e
Combination of series and parallel .3
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No resistors are shown in the figure .4



Q.22: magnetic flux
Which statement is wrong about magnetic flux?
S uubliall gosdl oy lews dibls dJWl Ol)bsdl o Gl
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PHY.6.1.02.065 o
The magnetic flux increase when the magnetic field increases .1
G_...ulaha,d\ Jlaal sad aba b Gm.law\ csdl) ala i
The magnetic flux decrease when the magnetic field decreases 2
Ls.m.\la\_uud\ J\A.AM A% uhas.u wmkw\ dﬁ_‘d\ dm
The magnetic flux is most concentrated at magnetic poles 3
bl Olad) Lie ST S Guujahad\ Gl 387

The magnetic flux is most concentrated at the center of the magnet 4

bkl 355 3 ST iy (pmablital 38 5550



Q.23: Kirchhoff’s Rules
On which law of conservation does the loop rule rely to analyze complex electric circuit?
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the law of conservation of energy .1
A8lal) Jass 4008
the law of conservation of charge 2
s i) Jaas 4008
the law of conservation of mass .3
) Jaas o) 418
the law of conservation of momentum 4
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Q.24: Inducing Currents

Which energy conversion process is the basic function of the electric motor?
€ ALl diaal) dilig gale aiius 4ay) ABUal) Cisas e gl

From mechanical energy to electrical energy .1
LlugS 2l 1) 4S5l Ailhs (o
From electrical energy to mechanical energy .2
Tlsa Al ) Al Al (oo
From thermal energy to mechanical energy .3
LS Bl ) Ao Bl
From thermal energy to electrical energy 4
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Q.25: magnet poles
The diagram below shows the magnetic field between two magnetic poles. Which of the following

correctly identifies the poles?
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